PARTIAL BUILDING 3D VIEW
DETAIL NO. 00

NN,
:
:

10mm REVEAL Eﬁ\
(TYPICAL)

MEG PANEL

REFER TO DETAILS 02-11 FOR MORE INFORMATION ON INSTALLATION AND FITMENT OF MEG PANELS.

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



PANEL HOLE LAYOUT A
DETAIL NO. 01

FABRICATOR CUTS PANEL TO SPECIFIC SIZES FROM FACTORY MANUFACTURED FLAT SHEET.
TYPICAL SHEET SIZE: 1300mm x 3050mm (51" x 120")
WEIGHT: 8mm PANEL = 2.21 Ibs/ft?

10mm PANEL = 2.77 Ibs/ft?

SPECIFIC PANEL
LENGTH DETERMINED
BY DESIGNER

PANEL WIDTH
DIMENSION

"R
Q
Ny O .

S S —._.y_ v s I _§- .- -—aae;$eiihbn>

|
|
|
|
i
|
|
|
|
|
|
|
|

PLEASE NOTE: PANELS ARE DIRECTIONAL

FIXED POINT
(BY INSTALLER)

o SLIDING POINT
(BY INSTALLER)

-

PANEL THICKNESS

A

B

Cc

D

8mm (%6")

550mm (21%")

500mm (19%%¢")

40mm (1%¢")

40mm (1%¢")

10mm (35"

800mm (31%")

600mm (23%")

50mm (2")

50mm (2")

PANEL HOLE LAYOUT BASED ON WIND LOAD REQUIREMENTS

(MAXIMUM LENGTH)

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



PANEL HOLE LAYOUT B
DETAIL NO. 02

FABRICATOR CUTS PANEL TO SPECIFIC SIZES FROM FACTORY MANUFACTURED FLAT SHEET.
TYPICAL SHEET SIZE: 1300mm x 3050mm (51" x 120")
= 2.21 |bs/ft?
= 2.77 Ibs/ft?

WEIGHT: 8mm PANEL
10mm PANEL

SPECIFIC PANEL
LENGTH DETERMINED
BY DESIGNER

PANEL WIDTH
DIMENSION

PLEASE NOTE: PANELS ARE DIRECTIONAL

- -

_— SLIDING POINT
(BY INSTALLER)

™— FIXED POINT
(BY INSTALLER)

PANEL THICKNESS

A

B

Cc

D

8mm (%6")

700mm (27%6")

500mm (19%%¢")

40mm (1%¢")

40mm (1%¢")

10mm (35"

800mm (31%")

600mm (23%")

60mm (2%")

60mm (2%")

PANEL HOLE LAYOUT BASED ON WIND LOAD REQUIREMENTS

(MAXIMUM LENGTH)

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL

OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



TYPICAL VERTICAL SECTION
DETAIL NO. 03

SPRING

¥4" MIN.

*
PERFORATED ALUMINUM ANGLE* ALUMINUM COPING

T MEMBRANE*
é ¥ ____— WOOD BLOCKING*
© / CLOSED HAM
1" \.\ METAL STUD*
4" 16 GAUGE METAL STRIP* - \
SUPPORT 24" ON CENTER FLAT HEAD SCREWS*
WITH %" CLEARANCE
ATTACHMENT PROFILE
o GYPSUM BOARD*
MEG PANEL
4" 16 GAUGE METAL STRIP* -
SUPPORT 24" ON CENTER s
STAINLESS STEEL FASTENER g
(TYPICAL)
I GYPSUM BOARD*
WRB*
| —— FLAT HEAD SCREWS*
/’
1. <

CONTINUOUS DRIP -
FLASHING* \;

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

PERFORATED ALUMINUM ANGLE*

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



MID PANEL JOINT
DETAIL NO. 04

GYPSUM BOARD*

METAL STUD* INSULATION*

T AT T TS T AT RATL T

#12 HEX WASHER SD*
(TYPICAL) \

IR T T T T L L R N T T T
—

[ e e L e e e o e e A N e N e = R e N R R R AR AR R N A AR AR A
=]
—

(NN NEENEEN] [EENEENEERRERE=— NN NN NN NN NN N RN RN

25mm [1"] MINIMUM

e
TR ARSIV
N

]
— GYPSUM BOARD*
WRB*
"J" CHANNEL
(TYPICAL)
FLAT HEAD STAINLESS STEEL FASTENER
#10 SCREWS*

— MEG PANEL
4" 16 GAUGE METAL STRIP*

SUPPORT 24" ON CENTER

LENGTH = 10'-0"

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



TYPICAL VERTICAL JOINT
DETAIL NO. 05

GYPSUM BOARD*

METAL STUD* INSULATION*

BRRTR T R T TR TRETRETAY

AL

=

-

=

#12 HEX WASHER SD* HAT CHANNEL g

(TYPICAL) (TYPICAL) —

=

= :

- &
TT T 7, 77,71, 7] =77, 71,171,771, 7T \\g\\\\g\\\\\\\\\\\\\\\\\
== = A TR ATAT
c t t - L GYPSUM BOARD*

WRB*
10mm [%"]

STAINLESS STEEL FASTENER

FLAT HEAD
#10 SCREWS*

4" 16 GAUGE METAL STRIP*
SUPPORT 24" ON CENTER
LENGTH = 10'-0"

MEG PANEL

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



TYPICAL HORIZONTAL JOINT
DETAIL NO. 06

N
a1
3
3
=
=
<
S
c
Z

GYPSUM BOARD*

GYPSUM BOARD*

ATTACHMENT
PROFILE

INSULATION*

STAINLESS STEEL
FASTENER

?

WRB*
R
S\ TN
] MEG PANEL
R AARRARRA
SELF-TAPPED SCREWS* / 4" 16 GAUGE METAL STRIP*
(PRE-DRILL HOLES) SUPPORT 24" ON CENTER

LENGTH = 100"

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



25mm [1"] (TYPICAL)

INSIDE CORNER
DETAIL NO. 07

INSULATION* METAL STUD* GYPSUM BOARD*
(TYPICAL) (TYPICAL)

HFiHHFi\H\FH!i\FH!i\NiHHFiHi\FHH\FiHi\HHi\H\FHHMMM\WMM H\\\H\\HH\\M\\HMMMMMMM
D =

#12 HEX WASHER SD*
(TYPICAL)

/\/

v —
=
=l \ \ \ \ \ \ \ \ \ \ \ FH
=
=
= L]

T
\
|
[E

"J" CHANNEL — o %
(TYPICAL)

10mm [%"]

=
1

REFER TO DETAIL

g

NO. 01 & 02
STAINLESS STEEL FASTENER — m%
(TYPICAL) (e |F— N
“J* CHANNEL — —
(TYPICAL) Ao —
1= A
| #12 HEX WASHER SD* | —]

4" 16 GAUGE METAL STRIP*
SUPPORT 24" ON CENTER
LENGTH = 10-0" (TYPICAL)

1 k}(TYPICAL) :::E

WRB*
(TYPICAL) ==
MEG PANEL — N ——

|

J

GYPSUM BOARD*

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



OUTSIDE CORNER
DETAIL NO. 08

K —— 25mm [1"] (TYPICAL) INSULATION*
/  (TYPICAL)

GYPSUM BOARD* - —

(TYPICAL) ] — METAL STUD*
= — (TYPICAL)
7 =
HWI/MW I —
= IR R
1 FEPE g b e P
z% M‘M‘M‘\ \\‘M‘M‘\\‘\\‘M‘\\‘\\‘
= a

WRB* =
— #12 HEX
— WASHER SD*
] (TYPICAL)

juEn]|
T
=
=
=
=
=
=

REFER TO DETAIL
NO. 01 & 02

VIR NANRARRATAR Y2
VIR MANRARAATARYS

I

H T2
o=

fm
fm

% - "J" CHANNEL
(TYPICAL)

10mm [%"] /M/

STAINLESS STEEL FASTENER
(TYPICAL)

— 4" 16 GAUGE METAL STRIP* MEG PANEL
SUPPORT 24" ON CENTER
LENGTH = 10-0" (TYPICAL)

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



FLOOR/GROUND
DETAIL NO. 09

25mm [1"] MINIMUM ﬁ‘;

@

MEG PANEL - ié/\/

WRB* = N
ATTACHMENT PROFILE 5/\/

4" 16 GAUGE METAL STRIP* = |

SUPPORT 24" ON CENTER =

FLAT HEAD SCREWS*
(TYPICAL)

METAL STUD*
STAINLESS STEEL

FASTENER g
4 4 A E
g |y
PERFORATED §
ALUMINUM ANGLE* =
©s i =
£ 2 N
e 2 2 ” < F—
5 Z =
= <’ S
— —]
. ¥ , —
s 24 Ee GYPSUM BOARD*
<  —
B =

GROUND LEVEL

CONCRETE FOUNDATION* /

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



WINDOW/DOOR SECTIONS
DETAIL NO. 10

WRB*

4" 16 GAUGE METAL STRIP*
SUPPORT 24" ON CENTER.
LENGTH = 10'-0"

"J" CHANNEL
(TYPICAL)

STAINLESS STEEL FASTENER

A -JAMB

d%q
EE—

Al
U

WINDOW SYSTEM*

WRAP ALUMINUM
FLASHING AROUND
OPENING

PERFORATED
ALUMINUM ANGLE*

MEG PANEL —
WINDOW SYSTEM*
WRAP ALUMINUM
FLASHING AROUND GYPSUM BOARD*
OPENING [ K 7 (TYPICAL)
PERFORATED i S —
ALUMINUM J@Ff/g
ANGLE* W) ATTACHMENT
= B PROFILE
STAINLESS STEEL E =
FASTENER =
F=|  MEG PANEL
METAL STUDS* =
= é{g WRB*
4" 16 GAUGE METAL £ =
STRIP* SUPPORT 24" = 5 4" 16 GAUGE METAL = =
ON CENTER. = J5 STRIP* SUPPORT 24" — =
LENGTH = 100" =\ || ONCENTER. =
|1 LENGTH=10-0" =
WRB* = 0 = =
G PANEL >>::1:::::> METAL STUDS* =
El ]9  STAINLESSSTEEL =
= = FASTENER =
ATTACHMENT = A = 07
— F—i D)
PROFILE - || PERFORATED “145%\\J
o <  Awwminum i S
= | ANGLE*
= = LI 2
GYPSUM BOARD* = —  WRAP ALUMINUM
(TYPICAL) \>f§ﬁf///\\ FLASHING AROUND
OPENING
B - SILL C - HEAD

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

WINDOW SYSTEM*

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



PARAPET

DETAIL NO. 11
PERFORATED ALUMINUM SPRING* ALUMINUM COPING*
ANGLE*
STAINLESS STEEL
FASTENER
MEMBRANE*

WOOD BLOCKING*

FLAT HEAD SCREWS*
(TYPICAL)

CLOSED HAM

T METAL STUD*

[

25.40mm [1"]

/‘; 152.40mm [6"] MIN. ﬁ‘/

|

BN

Y

39

4" 16 GAUGE METAL STRIP
SUPPORT 24" ON CENTER
LENGTH = 10'-0"

?

3

?

WRB*
MEG PANEL - . B

|

|

ATTACHMENT PROFILE

i?

?

4%

GYPSUM BOARD*

GYPSUM BOARD*

25mm [1"] MINIMUM H

NOTES FOLLOWED BY AN ASTERISK (*) REFER TO ITEMS THAT ARE BY OTHERS.

THE INFORMATION SHOWN HERE IS TO BE USED FOR PROMOTIONAL PURPOSES ONLY. IT IS THE USER'S RESPONSIBILITY TO CONFIRM THE APPROPRIATENESS
AND COMPLETENESS OF THE INFORMATION FOR THEIR OWN PRACTICAL USE. MEG INC. OR ANY AFFILIATE SHALL NOT BE LIABLE IN THE EVENT OF INCIDENTAL
OR CONSEQUENTIAL DAMAGES IN CONNECTION WITH, OR ARISING FROM, THE USE OF THE INFORMATION IN THIS DOCUMENT.



	MEG_DET_00-Partial Building 3D View
	MEG_DET_01-Panel Hole Layout A
	MEG_DET_02-Panel Hole Layout B
	MEG_DET_04-Mid Panel Joint
	MEG_DET_05-Typical Vertical Joint
	MEG_DET_06-Typical Horizontal Joint
	MEG_DET_07-Inside Corner
	MEG_DET_08-Outside Corner
	MEG_DET_09-Floor_Ground
	MEG_DET_10-Window_Door Sections
	MEG_DET_11-Parapet

